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Example 3

A box contains 40 white, 50 red, 60 black balls. Pick 20 without replacement.
Find the prob of getting

(a) 10 white, 4 red, 6 black

(b) 10 white

(a) The total number of outcomes is (% ). For the favorable, pick 10
white out of 40, pick 4 red out of 50, pick 6 black out of 60:

P(10W, 4R, 6B) = (103((115;:0 e,

(b) For the favorable, pick 10 white out of 40, pick 10 others from the

110 non-white:

110
P(10W) = _”L(ufzgg) )



E‘-.u CA 53;1_;;4.:{05 Cn [os AFuu'ref

eYTm

| L& d.s's "l"!"' AU o Bfﬂo ~t CA

tiewe la Letna.

P(») = __N! -P”' t;_"'"
k (W-u)! m!
_P&) pepresevta plobabilioy de
_____ f e va svceso » cton ple babilidad

[T RS JJJLAAL___f} N - VS TF B - T —tgp VEC ey
ﬁlﬂcﬁta__de__w__uu.:_mm__df_,. AN sSvcesos
AT T _pata__ el caso  del
Me&bg_k_iﬁ_cﬁo Al pl-e bab: ' olad
__T}‘LQ_._d_f._. " gk 505 ha ciq ld  olet-echy

UGS < - - N1 ——— V-n 2
Chd s T 8 @)

_P;[-r’d . _/d' F,qr?“é ‘b“ ‘t’"(’/'fc’mo)' ?ue {4
UNMICA foI7 4 de ce & holtb re
AVace vaa dis tavcd (= md- {'u-'n’),(
42 AVAN A A do H  hacca la _ dere ch A, et
./o W'TAA/‘ILa : /4 pLe [?Jﬁc’!-.'..o/a(d &3 la ! s M4

- L el A @Q




{
seah o - Mh@\ heaa e @ ol s -
B s oA ey e LS

) e PRk 28] pava cedw el (ap)*

) Uhlhzecr . 2P0

/'ry" ZA ek rewn oo ex\‘*ﬂn di cuestrds (f Le ec. LS3¥)
/ e

Z"/M?un
- ) b I =z -\ &
2 ?/J‘o.a_cq_(//lo\ = lp-a)M (Zp -V pm

“Q e
-
/;_{3 Z,?(Mr M) ’b(/“/"—"\t
o p e FY + 2 (=pos - Y
F(/'°'(2'P;'\/‘°)l‘" 3t (2 =) )
(o) S (2w’
t r (epaa)t 2 all2ema® = 4pdety - CEEHEE

2 ipg (4+pY =Tty

r B

Bel lea. (23)(,\\ _....-; ( AM\‘L % (M-ﬁ-ﬂ]‘ i ; -
[ &) ® u—/n:r'ﬁ.—[(zpi;')’fug]‘z f'/*:f’ﬂv i /.Aoz (e
= 4—/43 & i 4‘/“0’.?1 -l-“f‘/dozP -—/I.lenz
wilh ol o $pt + bpo—s)



5.1) Sopsngmie qut Ao Los St A gAY Lihel, s dodiomene -

S¢pantdod  aubre Y les ki dhe s

L€ s houn

C A e,

é\.\ L-O'\ ‘amb. Prmy de ﬁ'l 2L s, u/uo.,-bu, oblak ol 4 Gud.%q_,(o\

aolg. &y ponblus valerrs M.

LY Tl \ohSY aldd d

M duk usnan wrong gu A

L\ 3Up$u.s‘a&t "_}I LS sist, S g coun L\R-SYB A eLska :%!.l 1o vn
" e Lo o o 4VWU\- e Lieduy wonm Loy vaksre g

WA ik ash, A M(—’Uflb
A ] S

A!/I\/M

i e )i—l,oc.(o-mu-'p-, I

I B30 a8 - g

BTl Gl | @ TR > M

MR | B Bl o) F= Lk 2
g, T ¥
-3/1,” 4—//[:. . ?AIMD_:%'[—

X

'?M

ol :PIM] ‘1

21 4 2pe

= |

3
}
SNTSE S

N, Me wn(-ioa.- poinbled .

b} M-'-.Z?_rxw ?WBP"L"%MAA q‘//lo 7?{,;\(10‘
M= p (M) tog(ke) = polp-2)

V| twparan o pmas ) (3B )
A 'Pp,\H,F" 3 (-pme) o P AV} - g'/“a
B33 p : - inipal

-~ Mo o B g e

E‘ﬂg% tﬂﬂ ﬁ='|=(’b/“°”?{/‘-*°”q’(w 3%0
IS | —pae W = _!_(3/15}.«-§ (/‘Aa)-‘ gl(af“'\ "‘§ (/4
R3] Mo T3 3 .
BEB /Ao —[:/\ il
A= I E=N Mo lr\‘{'WEl"d“ﬂ-"
el Ban e




